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Total No. of Questions — 7 Total No. of Printed Pages — 11
Time Allowed — 3 Hours Blaximum Marks — 100

KVT

Answers to questions are to be given only in English except in the case of candidates who have
opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his answers in Hindi
will not be valoed.

Chuestion No. 1 is compulsory.

Attemnpt any five questions from the remaining six guestions.

Wherever necessary suitable assumplions may be made and disclosed by way of a note.
Working notes should form part of the answet.

All questions pertaining to the Income tax relate 1o assessment year 2013-14, unless
stated otherwise in the question.

Marks
i. . (a) Mrs. Rani a resident aped 50 years is runming an acupuncture clinic. Her 10
Income and Expenditure Account and other relevant information for the year
ending 31* March, 2013 are given below :

Amount Amount
Expenditure Income
T 4
To Staff Salary 240,000 | By Fees receipts 10,001,000
To Clinic rent 1,20,000 | By Dividend from Indian
To Medicines and needles 105,000 Companies 10,500
To Depreciation 1,000 | By Winning from Lotteries
To Administrative expenses | 1,52,000 net of TDS (TDS ¥ 3,000) 700K
To Donation to Prime 20,000 | By Income-tax Refund 1,750
Minister's Natiopal
Relief Fund
To Excess of Income over
Expenditure 3,001,250
10,19,250 10,19,250
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(i} Depreciation in respect of all assets has been ascertained at ¥ 60,000 as per

Income-tax rules,
(it} Medicines & needles of T 22,000 have been used for her family.

(iiiy Fees Receipts include ¥ 24,000 being honorarium for valuing acupuncrure

eximination answer hooks.

(i¥) She has also received ¥ 57,860 on maturity of one LIC Policy, not included in

the above Income and Expenditure Account.
(v} She has paid an LIC premium of ¥ 12,000 for self (Sum Assured T 50,000,
{vi) She has paid T 2,500 for purchase of lotlery tickets.

From the above compute the total Income and tax payable thereon of Mrs. Rani for

the Assessment year 2013-14,

WQ Lid. 1s engaged in providing the taxable services. Ascertain the amount of 5
service tax payable by it in the month of September, 2012 from the

mformation given below :

Amount
Particulars
()

supply of farm labour for agriculture purpose, 1,00, (10
Service to people free of cost, 60,000
Advance received in September, 2012 from clients for which no
service has been rendered till date, 835,000
Amount received for the services rendered in June, 2012 {bills
for the Same were issucd u_n_;?._‘.‘n'd' June, 2012) 90,000
Bill raised for the services rendered in the month of September,
2012 against which no amount is received so far. 75,000
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The above amounts are exclusive of service tax, Q. Lud is not eligible for

small service provider's exemption in the financial year 2012-13.

The rate of Service Tax is 12%, Education Cess is 2% and Higher Education
cess is 1%,

ich r. Bansilal of Punjab is a manufacturer, registered under VAT. He provides ' 5
the following particulars for the financial year 2012-13,

1.  Purchases from local registered dealer {excluding VAT 4%) 1,135,000

2. Purchases from a dealer having opted composition scheme
(includes VAT 4%) 2,20,000

3.  Purchases of machinery eligible for input credit on 1-10-2012
{excluding VAT 4%) Depreciation rate 15% p.a. 3,00,000

4,  Other direct & indirect expenses — 30% of total purchases
{excluding depreciation)

5.  Profit margin — 20% of the total cost
6.  Unutilized balance of VAT input credit as on 1-4-2012, 7,500
7. 90% of the production is sold during the year,

3. VAT rate for sales is 12.5%

Find the taxable turnover, net VAT payable and input credit for the vear
2012-13.
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2, {Uﬁah and Siddhant are brothers and they earned the following incomes 8
during the financial year 2012-13. Devesh settled in America in the yvear 1985
and Siddhant settled in Mumbai, Devesh visits India for 20 days every year.
Siddhant also visits America every vear for 2 month. Compute their total

income for the Assessment year 2013-14 from the following information.

Sl Devesh | Siddhant
Particulars

No. T 4

1. | Interest on American Development bonds, 50% of

interest received in India. 46,000 18,000

2. | Dividend from a Japanese Company received in
America. 10,000 15,000

3. | Profit on sale of shares of an Indian company

received in India. 45,000 75,000

4. | Profit from a business in Mumbai, but managed

directly from America. 10,000 -

5. | Income from a business in Mumbai. 32,000 28,000

. Fees for wchnical services rendersd in America
and received in America. The services were,

however, ptilized in India. 1,530,020 -

7. | Interest on savings bank deposit in State Bank of |
India, Mumbai, - 4,500 12,000

8. | Rent received in respect of house property at
Mumbai. 96,000 55,000

Y. | Lif¢ Insurance Premium paid. " - 23,000
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Mhnt is "Megative list of services” 7 Which services by Gowvernment or a )

local authority are not included in the negative list of services ?

One of the merits of VAT is ‘Neutrality'. Explain.

Rajesh went to Shrinagar on a holiday on 15-11-2012 with his wife and
two children (one Son — age 6 years; twin daughters g age 3 vears).
They went by aeroplane {economy class) and the total cost of tickets by
his emplover was ¥ 58,000 (T 43,000 for adults and ¥ 15,000 for the
three minor children. Compute the amount of Leave Travel Concession
exempl.

Will the answer be any different if among his three children the

twins are 6 years old and son 3 years old ? Discuss.

Mr. Gobind received retrenchment compensation of € 10,00,000 after
30 years 4 months of service. At the time of retrenchment, he was
receiving basic salary of T 20,000 p.m; deamess allowance of T 5,000

p.m. Compute his taxable retrenchment compensation.

What is meant by EASIEST scheme 7 Enlist the benefits of EASIEST scheme

1o an assessee under the Service Tax Provisions.

Seth Traders, a registered dealer of Bihar having stock of goods worth

¥ 60,000 purchased from West Bengal wishes to opt for composite scheme.

Advise the dealer whether it is possible 7

KVYT
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4. (a) From the following information of Mr. Mohit for the financial year 2012-13 8

you are required 1o compute his total income for the financial year 2012-13
and ascertain the amount of losses which will be carried forward 1o next year,

(i) He owns two houses : T
House No. 1 - Income after all statutory deductions 80,000
House No, 2 = Cumrent year loss (38,000)

(i) He has three proprietory business concerns
{3} Textile Business :

(i) Discontinued from 30™ September 2012 — Current 40,000

vear's loss
(i) Brought forward loss of Asst, year 20000-10 Q5,000
@) (i) Chemical Business - since discontinued : il

(1) Bad debis allowed in earlier years recovered 35,000
during the year.

(iii) Brought forwarded business loss of Asst year 50,000
2011-12

{c) Leather Business — Profit for the current vear 1,00,000

{d) Share of Profit in 2 firm in which he is partner since 16,550

2001,
(i) {a) Shon Term Capital Gain 60,000
{b) LongTerm Capital Loss 33,000
(tv) Contribution to L.I.C. towards premium 10,00

KVT
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tate with reagons whether the following ststoments are correct or incomect 4

under the Service Tax provisions

(1}  Mr. F provides the service in March, 2012, He receives the payment by
cheqgue on 30-3-2012 and the cheque is cleared on 1542082, The point
of taxation of this service will be 30-3-2011 and the rate of senies tax

will be 10%.
(23 Postal services for registered post are liable fo service tax.

{3} M/ 3R Brothers having office in Jammu, provide the services to

MYs QR Lid. in Patna, These services are not liahle to service tax.

(41 Toipur Bronch of ABC Lid. provides services to Baroda Bmnch of ABC

L1d. These services are not lable to service mx.

iscuss the provisions of VAT for ‘stock ransfer’. d

Mr. A is en employee of Larsen Limited and has substantial interest in the 8
company. His salary is § 25,000 p.m. Mrs. A also is working in that company
at a salary of ¥ 10,000 p.m. without any professional gualification.

Mr. A also receives T 30000 a5 income from secarities, M=, A owns 2 hooge

property which she has let oul. Rent received from such house property is
© 12,000 pm.

BlIr. & Mirs. A have three mioor children-two twin daughters and one
son. Income of the twin davghters is § 2,000 p.a. and that of hiz 2on i § 1,200
p.a. Compute the income of Mr and Mrs. AL

KVT P.T.C.
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(b) ABC & Co.isa partacrship firm engaged in the tusiness of recruitment and 4
supply of labourers. The firms, which had rendered taxable services to the
tune of ¥ 30 lacs in the financizl year 201 1-12, fumishes the following details
peraining o the half year ended on 30-9-2012 -

5l. e T _-_-‘
|LNu. Farticalars L4
| e
1. | Amounts eollected from companies for pre-recruitment |
| Sereening. | 3,00,000

P

| Amounts collected from companies for recruitment of
Permanent s1aff 1,280,000
| L]

=  Temporary staff 4,530,000

3. Advances received flom prospective employers for KOO0

conduciing cumpus interviews in colleges

—J
Wherever applicable, service tax has been charged sepasately and received

Mo clicots,

Compute the value of mcable services rendered and the serviee tax payakble hy
the assessee for the relevant half year The rate of service lax is 12%

education cess is 2% and higher education cess js 1%,

€}  Marufacturer A sold produst X o B of Delhi @ ¥ 1,000 per unit, He has 4
charged CST @ 4% on the said product and paid 2 60 a freight. B of Delhi
zold goads to C of Delbi @ ¥ 1,250 per unit and charged VAT @ 12.5%. C of

Delhi sold goods to D, a consumer @ T 1,500 per unil and charged VAT @
12.5%.

Compute VAT Liability of B & C,

KVT
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Ms. Neelima had purchased 500 equity shares in A Lid at a cost of T 30 per
share (brokerage 1%} in Frebruary 1979,

She got 50 bonus sheres in Seplember 1980).

3he again pot 530 bonus shares by virtue of her holding on March, 1985, Fair
marke! valve of the shares of A Lid. on Apnl. 1981 is T 50.

In January 2013, she wansferred all her shares @ ¥ 240 per share
(brokerage 25).

Compute the capital gains taxable in the hands of Ms. Neelima for the
Assessment Year 2013-14 assuming

(a) A Lud. is an unlisted company ard sccuritics tnnsaction ax was not
applicable at the 1ime of sale.

(B} A Lud. is & listed company and the shares are sold in @ recognised stock

exchange und securities ransaction tax wus paid g the tme of sale.

Cost of inflation index.

FY. 198182 100
F.Y. 1984-85 125
FY. 2012-13 g52

. Rajesh, a proprictor of Z coterprise provides taxable services. He
received the following amount during the financial year 2012-13

(i) ¥ 1,25000as advance while signing a contract,
(i) 2 6,00,000 by pay order duting process of providing service,

(1) ¥ 5,25,000 by credit card after completion of service as on 31% Deg,, 2.

8
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Compute the value of taxable service and amount of service tax payable by
him Assume service lax has been charged separstely. Z enterprise is not
eligible for small service provider's exemption in the financial vear 2012-13.

The rawe of service tax s 12%, education cess is 2% and higher

education cess is 19%.

{Wxguish between Gross Vanant and Consumption Variant of VAT, 4
g
T (2)  Answer any two of the following thres sub-divizions 2uwd=8

(i), Briefly discuss the provisions relating o payment of advance ax in
b .
case of capital gains and casual income.

{11) Esplain the provision regarding the taxability of limited liability
partnership nnder the [ncome-Tax Act. 1961,

(11} A5tate the head of income in the following cases under which the receipt
" is o be assessed and comment.

(A) A uses his_pr_upq:ny for his own _hus':nﬂss_. Can he claim
depreciation ?

{B) DB lets out his propeny o X, X sublets it How is sub-leiting o be

assessed in the hands of X 7

(C} C bas built a house on a leasehold land. He has let out the
propery and claims the nent 45 income from house property and
deducted cxpenscs on repairs, security charges, insurance amd

collection charpes totalling to 405 of receipts.

KVT
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an is the value of the service under service 1ax provisions determined whare
such value 15 not ascertainable 7

F. |

()~ What are the procedural requirzments under VAT Act for claiming set off of 4

4
inpul lax oncapital goods 7
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